SMS5FEE RBRETF2

R 20234108258 (K)

A—R:RBR—0Hh b V=0 TF7

TEFERSR (—iRDEB)

[=Civa RF4 & ouT IN Total =3
1 WA 81 Rlg/<—7 31 41 72
2 W KN K& 35 38 73
3 HE +AR2 PR ERR 38 36 74
4 R B 4 35 41 76
5 B FA EtHR - FH 39 38 77
6 e S RZvias 34 43 77
7 FHE wBZ FH &L 39 39 78
8 KIE  [&5L NG RTF VR 39 39 78
9 i == B 40 39 79
10 AXH R 215 39 40 79
11 BA  FKEA Rl& 38 42 80
12 WL E2— 215 39 42 81
13 RA BN FH &R 39 42 81
14 RF  HE—ER =1l 38 43 81
15 R RSB B 38 43 81
16 BIE S o VA 37 44 81
17 RAT B 2<% 41 41 82
18 Hok & TEF 40 42 82
19 A0 F=ER F— v 40 43 83
20 Bk A =43 37 46 83
21 piichas M2 FH L 46 38 84
22 B LA KB 44 40 84
23 BN FH R 43 41 84
24 FE IE RZvvaF 39 45 84
25 WE EE AHE 44 41 85
26 e & NG RTFURR 44 41 85
27 BE BE IR 43 42 85
28 B &b EHRERR 41 44 85
29 BAR HXE 2<% 40 45 85
30 RE RE =153 39 46 85
31 MH  F=—Bp T 39 46 85
32 AT BX T8 39 46 85
33 = RIGEE 39 46 85
34 OB INGRTVIRA 39 46 85
35 A BB Sk 37 48 85
36 Wl BR— iE 44 42 86
37 BH TR EHR 44 42 86
38 LT #ESL KB 42 44 86
39 ER e R/ —7 42 44 86
40 W Rak TR - FR 41 45 86




[=Civa EF4 g ouT IN Total =&
41 PR IEE R 39 47 86
42 ik E— AFE 48 39 87
43 AR BZ 2<% 44 43 87
44 Ll RERK BR 44 43 87
45 R HhE KIE 43 44 87
46 3k 1EAC TR - FR 43 44 87
47 &7 B 5 42 45 87
48 BO & 1l 41 46 87
49 Nl &S FH L 40 47 87
50 T e ING AT VIRZA 45 43 88
51 LA SR FEHR - FR 45 43 88
52 L B R EpE 44 44 88
53 =K AR =115 44 44 88
54 ZNTIR SV EHRERR 43 45 88
55 B OBt Rig/<—72 43 45 88
56 AE FE F— v 41 47 88
57 WA AR Rlg/<—7 40 48 88
58 =sa —F 215 46 43 89
59 Ec = EHRERR 44 45 89
60 ZH —& 35 43 46 89
61 BR B B4 42 47 89
62 i Fe NG AT VKRR 41 48 89
63 VA= N RIGER 41 48 89
64 ANl wE 1E 40 49 89
65 Hep ik B4 48 42 90
66 MK R EHR - FF 45 45 90
67 gk B Sl 44 46 90
68 BR B KB 44 46 90
69 A HEREB RIGEE 44 46 90
70 HE B2 B RHIE 42 48 90
71 =0 —¥F R 46 45 91
72 BfEH AKX FH L 45 46 91
73 Il Fz TR - R 43 48 91
74 & #E Ri& 43 48 91
75 A RIB 2<% 48 44 92
76 i E— R 48 44 92
77 JIEB B 1l 45 47 92
78 koK #EE =43 45 47 92
79 BIg Hh— BF 44 48 92
80 HE 5 1l 43 49 92
81 SR A Ea= 39 53 92
82 ®HE BE FH L 49 44 93
83 AR EZ 2< b 47 46 93
84 JRHE BEx KB 47 46 93
85 aBa 1T KB 44 49 93




[=Civa EF4 e ouT IN Total =&
86 28 BE— RZvva7 48 46 94
87 A BHA RIFEE 46 48 94
88 AT B RilG/<—72 46 48 94
89 FH O £RX =15 45 49 94
90 KE RIS RZviaz 43 51 94
91 AR IR Eg sy 48 47 95
92 == TN EHRER 47 48 95
93 FE Mk RZvva7 45 50 95
94 FO Z2m F 44 51 95
95 NIt —HR EE 49 47 96
9 e R 48 48 96
97 FH & =S 1 44 52 96
98 BE EHRER 43 53 96
99 =lEg Bt Eg s 49 48 97

100 Ml B RIF/X—2 44 53 97
101 AL B— B 47 51 98
102 BE RIF/X—2 54 48 102
103 Bl E& 2<H 51 51 102
104 )1 FOBEA =1 51 57 108
105 BIR  #h RilG 51 57 108
106 HO EZEB =153 51 58 109
107 FHOMHE 15 56 56 112
SHSFEE RBET7ZIF27EFEXRSES (LT 1 ADER)
JEz RFHZ FrlE ouT IN Total %

1 B FA4F KANE 37 37 74 TL—F7
2 2 BT FH xR 39 35 74
3 g EF BELE 41 40 81
4 KE HF ¥ 40 41 81
5 N = BELE 42 42 84
6 BHE B& F— v 42 43 85
7 NIt LB H EF8 42 44 86
8 B fHE=E AR 39 47 86
9 RRE W BR 46 41 87
10 2B BT gyl 39 48 87
11 A=K ES R - R 42 46 88
12 B BF B4 42 48 90
13 & R RIGEE 45 46 91
14 KR BRE RZvva7 47 45 92
15 i &mE BlR 42 50 92
16 N =T FH 7/ 52 42 94
17 ¥ &% BlR 48 46 94
18 NN FEE EHR - FF 47 47 94
19 BER BF B Fl5 45 49 94
20 WE JEF NZvva7 47 49 96




JIEL EF4 g ouT IN Total fm®

21 HE f&E FH 7L 47 49 96

22 NN BE KB 49 48 97

23 )= k] R ERR 49 49 98

24 R MR 2<% 49 50 99

25 EH EI S I 47 53 100

26 He BT Z5 54 47 101

27 ME WY F KB 47 54 101

28 MR tEF INGRTVIRA 51 51 102

29 He ZEEF R ERR 50 52 102

30 T BF INTRAT VKRR 49 53 102

31 TE TEFEF R ERR 56 50 106

32 s AZEF ING RTVIRA 55 51 106

33 BEE WLz RiF 51 63 114

S FEE RBETZPIFa27EFEXRE (2=TEFODE)

JIEAL EFL @ ouT IN Total E=

1 BH Ko RIBHEX 38 36 74

2 K X& RIgAXK 36 39 75

3 =8 4 RlG 41 42 83

4 #E X =432 39 46 85

5 2l B RIBEH KX 42 46 88

S FEE RBETZIF27EFEXRE (22T FODER)

JIE{L BFZ g ouT IN Total &

1 Jert £ RIBEIL7HE 39 40 79

2 REL DE =432 38 42 80

3 AH EBETFF RIEE R 39 45 84

4 AR EAT KAE 43 47 90




